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QUESTION 1

Cascade de-duplicates the same conversation if it traverses multiple exporting Sensor devices. What is the maximum
number of hops Cascade will preserve data for?

B.5
C.10
D. 15

Correct Answer: B

QUESTION 2
In order to create an interactive view on Cascade Pilot:

A. Select two views from the views panel using control-click then right click on one and select "Create Interactive View"
from the drop-down menu.

B. After a Drill-Down from one view to another, right click on the Drill-Down view in the sources panel and select "Create
Interactive View" from the drop-down menu.

C. Select any item (such as a host IP Address, Port or Protocol name) in the main workspace and right click on the item,
then select "Create Interactive View" from the drop-down menu.

D. Select any view in the views panel, right-click it and select "Create Interactive View" from the drop-down menu.

E. Open the filters panel, apply an existing or new filter to the view then select "save as interactive view" from the home
menu.

Correct Answer: B

QUESTION 3
How do all the Cascade components stay time synchronized?
A. They all point to the same NTP server.

B. The Profiler, ideally, points to an NTP server (although it can use local time as well), the Gateway and Sensor get
their time information from the Profiler which acts as their NTP Server.

C. For security reasons, all components use local time. The same time should be set on each component.
D. They all synchronize their time via timestamps in Netflow sources.

Correct Answer: B

QUESTION 4
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If a prospective customer has 2000 users what would be a reasonable estimated number of flows per minute used in
sizing Profiler?

A. 2000
B. 4000
C. 20000
D. 40000
E. 200000
F. 400000

Correct Answer: D

QUESTION 5

How many Host Group Types can be tracked on the Dashboard within the Cascade Profiler GUI?
A. Unlimited

B. Ten

C. Four

D. Twenty

Correct Answer: C
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